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1-qism: Har bir topshiriq 0,9 balldan baholanadi  

 

1. `I ______ you know as soon as the telegram ______. 

A) will let / arrives  B) would let / arrives 

C) will let / arrived  D) let / had arrived 

 2 I didn’t answer the phone when it ______ because I 

______ a shower, so I ______ it until it was too late. 

A) rang / was having / didn’t hear 

B) rung / was having / wasn’t heard 

C) was ringing / had / didn’t hear 

D) rang / was having / wasn’t heard  

 

3. No one seemed to know _______. 

A) why was he angry 

B) when the festival was due to start 

C) which party has won  

D) what is his latest decision 

 

4. A: I took Janet to the cinema last night. 

B: You _____ me too. I was at home. 

A) might take   B) may have been taken 

C) might have taken  D) must have taken 

 

5. He was charged _____ murder and brought _____ 

trial _____ jury. 

A) for / to / in front of   B) at / into / by 

C) with / to / through  D) with / up to / by  

 

6. They should have shown me more consideration. 

I ought _____. 

A) been shown more consideration 

B) be shown more consideration 

C) to have been shown more consideration 

D) to have shown more consideration 

 

7. My aunt lived on ___ ground floor of ___ old house 

on ___ River Thames. 

A) the/an/the   B) -/the/a  

C) the/the/-   D) -/an/the  

 

 

There can be few more depressing stories in the entire 

history of man’s exploitation of nature than the wide-

spread destruction of whales. Whales have not only 

suffered untold cruelty but now face total extermination. 

Already entire populations have been wiped out, and the 

only reason why no species has yet been finished off is 

due to the vastness and inaccessibility of the oceans. 

Hence, a few have always managed to escape, but how 

much longer can this go on? 

 

 

8. Choose the correct answer according to the 

passage. 

The author points out that of all the animals in nature it 

is probably the whales that _____. 

A) have aroused most sympathy among ordinary 

people. 

B) have attracted the least scientific attention. 

C) alone can survive man’s hunting instincts. 

D) have suffered most from man’s cruelty. 

 

9. According to the passage, if whales have so far 

survived, it is because _____. 

A) they have taken refuge in the vast expanses of the 

oceans. 

B) they breed fast and are difficult to catch. 

C) modem man has recognized the need to preserve 

them. 

D) various measures have been taken to save them 

from total extermination. 

 

10. In the passage the author expresses his doubts 

about whether _____. 

A) many species of whales ought to be preserved. 

B) the exploitation of nature can be justified. 

C) whales can actually survive in the future. 

D) man really is as cruel to whales as some people 

have claimed. 

 

2-qism: Har bir topshiriq 1,5 balldan baholanadi  

 

11. Choose appropriate synonym.  

Before taking a test on vocabulary, one had better 

brush up on his or her vocabulary. 

A) outline   B) memorize  

C) revise   D) review  

 

12.  All students should bear in mind that these books 

must be read by mid-semester. 

A) remember   B) memorize  

C) decide  D) overlook  

 

13.  No one imagined that the apparently ________ 

business man was really a criminal. 

A) honor  B) respectable   

C) respectful  D) respective   

  

 

14.  Having different types of businesses in a 

neighborhood can increase _____________ walking 

trips among residents 

A) a great amount of   B) a vast amount of 

C) the number of  D) several 
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15 I have never been _________ without finding 

___________ interesting to see. 

A) anything / everything 

B) anyone / everyone   

C) everywhere / anything 

D) anywhere / something   

 

16.  The results _________ were satisfactory but not 

exceptional ___________ to a commercial application.  

A) were obtained / to proceed  

B) obtained / in order to proceed 

C) obtaining / to be proceeded 

D) have obtained / proceeding 

 

17.  Highly trained workers, _________ tools-makers 

became difficult to hire and keep during the war, 

____________ they could get better wages elsewhere 

than in Ford employ. 

A) like / even though  B) as / despite  

C) such as / for   D) similar to / since

   

 

Lack of tolerance is an important problem of our age. 

People have been so intolerant of each other that even 

trivial matters may spark serious arguments. Living 

conditions can be said 

to compel people to spend most of their time 

concentrating on their business or their personal affairs. 

This may deprive people of exchanging their ideas with 

others or trying to 

understand different people. However, it doesn't seem 

impossible to form a tolerant society. The thing we 

should do first is to take up social activities to require 

that we share 

more with other people. 

 

Choose the correct answer according to the 

passage. 

18. It is pointed out in the passage that 

A) intolerance has been a serious problem in our age. 

B) lacking tolerance doesn't make people quarrelsome. 

C) unimportant problems make people aggressive. 

D) living conditions prevent people from focusing on 

their work or their own problems. 

 

19. It is implied in the passage that ........... 

A) people have been intolerant of each other due to 

unimportant matters. 

B) trivial problems make our lives unbearable 

C) we should concentrate on others' affairs rather than 

ours. 

D) people's having to spend most of their time on their 

own business prevent them sharing their thoughts with 

others. 

 

20. We can infer from the passage that ....... 

A) it isn't easy to form a tolerant society as long as we 

concentrate on our work.* 

B) it is possible that we will feel lonely unless we take 

up social activities. 

C) social activities can contribute to forming a tolerant 

society. 

D) it doesn't seem possible to form a tolerant" society 

owing to the problems in our age. 

 

3-qism: Har bir topshiriq 2,6 balldan baholanadi  

 

21. Complete the sentence. 

Whenever I intend to buy a dress or a shirt, 

____________. 

A) I loathed the clerk’s dishonest utterances on how he 

liked it 

B) I have always ended up buying none   

C) I find it much better to get its hanger as well 

D) Sue often accompanied me  

 

22. ___________, pepper is probably the most widely 

used one in the world today. 

A) Nervous as he was 

B) whereas diamond is a carbon 

C) Although regarded as one of the most common 

plants 

D) One of the earliest spices known 

 

23. Choose irrelevant sentence. 

(1) Some of the most famous classical composers died 

quite young. (2) Most of the musicians were died in 

their beds while sleeping. (3) Among these, for 

example, Schubert and Mozart, who both died very 

early in their thirties. (4) But not all composers have 

had short lives. Bach lived until age 65 and Haydn 

until 69. 

A) 1   B) 2 

C) 3   D) 4 

 

24. Restate the sentence. 

The shoes I buy these days don’t last as long as they 

used to. 

A) Nowadays, my shoes, which I bought wear out 

sooner than they did before.    

B) There is a shortage of shoes these days so I can’t 

buy the pair I want.    

C) The shoes which I buy these days wear out more 

quickly than they used to.   

D) I used to buy reliable shoes but these days I don’t.  
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25. We carve wood or stone with a ______. 

A) drill   B) chisel  

C) screwdriver   D) hammer 

 

26. Children usually ______ after an illness much 

more quickly than adults. 

A) pick up    B) pick over  

C) pick on    D) pick out 

 

27. My rifle was not ________, so I did not hit 

anything. 

A) from the best   B) for the better 

C) of the best  D) for the best  

Spices were known to Eastern peoples thousands of 

years ago. Arab traders artfully withheld the true source 

of these spices, however, and they became valuable 

items of commerce early in the evolution of the spice 

trade. The most notable uses of spices in very early 

times were in medicine and in the making of holy oils. 

Belief in the healing power of spices filtered down, in a 

moderated form, into the Middle Ages and even into 

early modern times. It is not known when spices were 

first used in food. Certainly, the ancient Greeks and 

Romans used spices to flavour food and beverages 

because they discovered that spices helped to preserve 

foods, mask the flavour of partially spoiled meats, and 

also brought a change of flavour. Knowledge of the use 

of spices to preserve and flavour food slowly spread 

through Europe. Finally, in the last third of the 15th 

century, the Europeans decided to build ships and 

venture abroad in search of a route to the spice-

producing countries. 

 

28. Choose the correct answer according to the 

passage. 

 Initially, spices were __________. 

A) sold for very low prices 

B) given in exchange for oil 

C) grown by Arab traders 

D) sold to the West by Arabs 

 

29. Spices were first used _________. 

A) by the ancient Greeks and Romans 

B) mostly for healing and religious purposes 

C) in the West in the early Middle Ages 

D) to make partially spoiled meat edible 

 

30. We are told in the passage that the ancient Greeks 

and Romans used spices for all the 

following, except ____________. 

A) to make food taste even better 

B) in religious ceremonies to please their gods 

C) to keep food from going bad 

D) to hide the taste of rotting food 

 

 

 

 

 

 

 

 

 

 

 

 

 


